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(3 AR 13-0) > " 1420 i 0.101 0.089 1340 i 0.094 0.081 " i 0.080 0.082 150 <BY 0.083 0.085
J 3- ARI7) -2 X 15 5
— i XA REE (ke ] 108198 48108 108198 48198
B 0.094 0.082 RE 0.077 0.083 RE 0.084 0.073 RE 0.098 0.084
(LiHEMABR1675) FARI7ILE 14:30 10:30 11:10 10:30
=X AREE (ke ] 108198 48108 108198 48198
B 0.087 0.078 RE 0.086 0.090 RE 0.088 0.084 RE 0.102 0.087
(T FmmT B8-14) FARI7ILE 12:10 11:40 12:40 9:50
moih XN REE [3=ke ] 108198 48108 108198 48198
B 0.081 0.077 RE 0.084 0.079 RE 0.099 0.085 RE 0.097 0.089
(LiHEME 5 ET11-5) FARI7ILE 11:20 13:20 9:20 9:30
L RKEAREE (ke ] 108198 48108 108198 48198
B 0.075 0.066 RE 0.064 0.061 RE 0.079 0.070 RE 0.069 0.063
(LiHEMFErHAT3252) FARI7ILE 15:00 10:45 11:20 10:50
NP X A REE (ke ] 108198 48108 108198 48198
B 0.076 0.070 RE 0.073 0.079 RE 0.078 0.077 RE 0.086 0.073
(iEmEL=T B2346-1) FARI7ILE 11:40 11:10 13:05 10:15
MINLREE BiE5 108198 48108 108198 48198
B 0.087 0.081 RE 0.076 0.078 RE 0.079 0.073 RE 0.084 0.073
(XHHERET B4824-1) FARI7ILE 10:25 10:05 10:50 11:10
BET AR A REE (ke ] 108198 48108 108198 48198
B 0.069 0.079 RE 0.086 0.071 RE 0.082 0.077 RE 0.078 0.069
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= Bh 0.082 0.072 Bh 0.098 0.091
(LHEMAFHET13-9) FARI7ILE 16:20 12:30
—hih RN REE ErEi5 10878 48148
= Bh 0.105 0.090 Bh 0.103 0.096
(LiHEMAEEK1675) FARI7ILE 15:55 11:55
=R A REE EfEHI5 10878 48148
= Bh 0.088 0.077 Bh 0.106 0.082
(LiEmAEET B8-14) FARI7ILE 15:05 11:05
meih XN REE EXEi5 10A7H 4R148
Bh 0.090 0.083 Bh 0.093 0.091
(LiHEMESET11-5) FARI7ILE 14:35 10:30
L RKEAREE ErEi5 10878 48148
= Bh 0.081 0.079 Bh 0.082 0.083
(LiHEmFEFET3252) FARI7ILE 16:05 12:10
NN REE EfEHI5 10878 48148
a = Bh 0.065 0.062 Bh 0.086 0.085
(ETEIL=THB2346-1) FARI7ILE 14:45 10:40
EMINREE EYEI5 10A7H 48148
= BEh 0.086 0.074 BEh 0.081 0.088
(AT ARET B4824-1) FARI7ILE 15:25 11:25
BFTatX A REE EfEI5 10878 48148
Bh 0.083 0.083 Bh 0.078 0.073
(EiA#RIR990) FAI7ILE 15:40 11:40




